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Mistake and the MPC: some examples and a diagram
A.   Some examples


In order to figure out the relevance of mistakes under the MPC, you should generally follow three steps.


First, figure out what mens rea the statute requires as to the element in question.  This involves examining the explicit language and, if this does not resolve the issue, applying the relevant interpretive rules.  (See handout no. 2.)


Second, determine what kind of mistake (if any) the D made.


Third, 
determine whether that kind of mistake “negatives” the mens rea you identified in the first step.  See MPC §2.04(1)(a).  Or, in simpler language, does the mistake reveal that the D lacks the mens rea required for the relevant element of the crime?  (This is simply a matter of “logical relevance,” as we will see.)


A concrete example will make it easier to understand this approach.  Suppose it is a crime to sell alcohol to a person under the age of 21.  Assume that D, a liquor store owner, does satisfy the actus reus of the crime, i.e., D does sell alcohol to V, and V is actually 20 years old at the time of the sale.  The mens rea question we will examine is whether D’s mistake as to V’s age should preclude conviction.


The MPC implicitly distinguishes three different kinds of mistake.  Notice that all three really do involve “mistake,” for they all involve a D who believes something that is not true.  Here, they all involve a D who actually believes that V is not under the age of 21.  (The third type, “reckless” mistake, is especially tricky, and is difficult to distinguish from the second type, “negligent” mistake!)


a.  "Reasonable" mistake:  D's mistake is neither negligent nor reckless.  For example, V has a mature physical appearance and looks at least 21.  She also shows D a perfectly forged driver's license indicating that she is 21.


b.  "Negligent" mistake:  D should be aware that V is under age, and his failure to be aware is grossly unreasonable (measured by a reasonable person standard).  For example, V lies to D and tells him that she has often purchased alcohol from him before.  She also states that she has left her ID at home.  Most people, judging by her appearance, would guess that V is 18 or 19.  But D, who is very gullible, believes her story, and is confident that she is above age.  Under the circumstances, his mistake could be found to be grossly unreasonable.


c.  "Reckless" mistake:  D is consciously aware of a substantial risk that V is under age, though he does not actually believe ("know") that she is under age; and his disregard of that risk is grossly unreasonable (measured by a “law-abiding” or reasonable person standard).  For example, assume the same facts as in the prior paragraph, except this time, D is not gullible.  Rather, he says to her, “I’m not really sure about your story that you’ve been here before.  But I’m not a good judge of age, and I’m willing to sell to you this time.  Next time, be sure to bring in your ID.”  Under the circumstances, the trier of fact could find all of the following to be true: 

(1) Despite some doubts, D ultimately believes that she is probably 21 years or older; 

(2) D is nevertheless aware of a substantial (say, 20%) risk that she is under age; and 

(3) D’s mistake is grossly unreasonable.


Now try to apply the approach to the following four hypothetical variations of the sale-to-minors statute, each with a different mens rea requirement. (In every case, assume D actually sells alcohol to V, who is in fact under 21 years of age.)  Try to answer the question first on your own, before checking the answer in the footnote.

1.
Mens rea of knowledge:

Assume that the statute has the following mens rea requirement: D must "know" that V is under 21 years of age. Which, if any, of the three kinds of mistakes noted above will, if proven, result in D’s acquittal?

2.
Mens rea of recklessness:

Assume that the statute has the following mens rea requirement: D need not “know” that V is under 21 years of age, but D must be “reckless” as to V being under age.  Which, if any, of the three kinds of mistakes noted above will, if proven, result in D’s acquittal?

3.
Mens rea of negligence:

Assume that the statute has the following mens rea requirement: D need not “know” that V is under 21 years of age, nor must D be “reckless” as to that fact; but D must be “negligent” as to V being under age.  Which, if any, of the three kinds of mistakes noted above will, if proven, result in  D’s acquittal?

4.
No mens rea: strict liability:

Finally, assume that the statute has the following mens rea requirement with respect to the victim’s age—none at all!  D need not “know” that V is under 21 years of age, and need not be “reckless” or even “negligent” as to that fact.  Rather, D is strictly liable, regardless of his culpability or lack of culpability as to that fact, so long as V actually is under age.  Which, if any, of the three kinds of mistakes noted above will, if proven, result in  D’s acquittal?

Two final observations, and a policy question:

(a)  Reckless mistake is an especially tricky concept to wrap your mind around.  How can an actor both honestly (though mistakenly) believe that V is above age, yet also “recklessly” believe that she might be under age?  As we will see, this question is not easy to answer.

(b) The above analysis explains the legal relevance of different kinds of mistake once the legislature or court has determined the requisite mens rea for the relevant offense element.  But deciding in the first instance what mens rea should be required is an important question of policy.

As a matter of policy, what mens rea do you think should be required for the crime of selling alcohol to a minor?

B.  Diagram

The following diagram summarizes the concepts discussed above.

The "fact" about which D claims to be mistaken is usually a circumstance element of an offense, such as the age of the buyer in the crime of selling alcohol to a minor, or the status of goods as stolen in the crime of receiving stolen property.  However, the "fact" can also be a result element.  Thus, a driver who runs a red light and kills a pedestrian might claim that she honestly and "mistakenly" believed that her act would not cause a death.  Even if a jury finds her claim of mistake credible, they might find her liable for some degree of homicide, depending on the culpability of her mistake.

	"Culpability" or mens rea that the offense requires as to the element:


	What kind of mistake exculpates, i.e. requires acquittal? (Loosely speaking, what kind of mistake gives D a complete “defense”?)



	1.  "Knowledge" or belief 


	Any mistake exculpates—whether the mistake is reckless, negligent, or reasonable.
  If D honestly is mistaken in believing that the fact does not exist, he cannot be convicted.  He only has the required mens rea if he actually believes that the fact does exist.  Only then does he have “knowledge.”



	2.  Reckless

	Only a non-reckless mistake exculpates.  That is, D lacks the required mens rea only if his mistake is negligent or reasonable. (Conversely, D has the required mens rea if his mistake is reckless.
)



	3.  Negligent

	Only a non-negligent mistake exculpates.  That is, D lacks the required mens rea only if his mistake is reasonable. (Conversely, D has the required mens rea if his mistake is reckless or negligent.)



	4.  Strict liability

	No mistake exculpates.  (D has the “required” mens rea—namely, none!—no matter what type of mistake he makes, whether reckless, negligent, or reasonable.)




� D is not guilty so long as he does not “know” (or believe) that V is under age.  Any mistake will “negate” this knowledge (or belief)—whether the mistake is reasonable, negligent, or even reckless.  Why?  Because in any case where D honestly (though mistakenly) believes that she is 21 or older, he cannot at the same time believe that she is under 21.  And the mens rea of the statute requires the latter belief.





� D is still guilty so long as his mistake is reckless, for he then has the mens rea for the crime.  But he is not guilty if his mistake is only negligent, or if it is reasonable.  For he would then lack the mens rea (“reckless”) for the crime.





� D is still guilty so long as his mistake is negligent, for he then has the mens rea for the crime.  (He is also guilty if his mistake is even more culpable, i.e., reckless.)  But he is not guilty if his mistake is reasonable.  For he would then lack the mens rea (“negligent”) for the crime.





� D is guilty no matter what kind of mistake he makes—even a reasonable one.





� Adapted in part from Robinson and Grall, Element Analysis in Defining Criminal Liability: The Model Penal Code and Beyond, 35 Stan. L. Rev. 681, 728 (1983).





� Knowledge is not equivalent to belief.  If the law requires you to "know" something, then you can’t be convicted unless both: (a) you believe that proposition, and (b) the proposition is true.  Strictly speaking, your "belief" is the relevant mental state, while the "truth" of the proposition is a circumstance element.  Thus, you can’t be convicted of knowingly receiving stolen property unless both (a) you believe that the property is stolen and (b) it actually is stolen.  (But you can be convicted of attempting to commit this crime if you believe the property is stolen but it is not; and attempt law is the main context in which the criminal law needs to distinguish knowledge from belief, as we will later see.)


	If “purpose” is the required mens rea, it can normally be treated the same as “knowledge” insofar as mistake is concerned.  (Any differences need not concern you.)





� In this context, "reasonable" means neither reckless nor negligent.





� Of course, D is also culpable under 2, 3, and 4 if he is not mistaken at all, but actually knows (correctly believes) that the fact exists.
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